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for NN 7%

for 1:=1 to 20 do
writeln(‘x’);




gotoxy(X,y); a7IPen nuon
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Gotoxy(5,3);
For i:=5 to 75 do write ("x");
Fori:=41to 23 do

Begin

Gotoxy(5,1); write('x");
Gotoxy(75,1); write('x");
End;
End;
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KERESH_TYPE=RECORD

. IR
Length:integer; L -
Tav:char; T 2PN
X,y :integer;

g QYR
END: !
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Begin
K.tav.="#"; K.length:=5;
K.y:=23; K.X:=36;

end,;



Begin

Gotoxy(k.x,k.y);

For i:=1 to k.length do write(k.tav);
End;



waw A ay MvIps
wap »mnR L1

155012 o1 8 4 S
wap neenn W3
wep neoTn 4



Begin

Gotoxy(k.x,k.y);

For i:=1 to k.length do write(‘ °);
End;



End;

elete_keresh(k);
Ch:=readkey;
If ch="." Then inc(k.x); { 71n> jnon > wpn}
If ch="," Then dec(k.x); {m>xnw jmon < wpn}
Print_keresh(k);



END.

Print_board;
Init_keresh(k);
Print_keresh(k);
Fori:=1to20do
If keypressed then move keresh(k);
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Ch:=readkey;
If ch="." Then
If k.x < 75-K.length then inc(k.x);
If ch="," Then
If K.x >5 then dec(k.x);
Print_keresh(k);
End;
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Init_ball(b); print_ball(b);
for1:=1to 20 do

begin

delete ball(b);
Inc(b.y);
print_ball(b);
end;
END.



END.

end;

delay(120);
delete ball(b);
Inc(b.y);
print_ball(b);
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Begin
Delay(120);
Delete ball(b);
Checlke borders(b,right,down,k);
Inc(b.x,right); inc(b.y,down);
Print_ball (b);

End;



If b.x=6 then right:=1;

If b.x =74 then right:=-1;

If b.y= 6 then right:=1;

If (b.y=22) and (b.x>=k.x) and (b.x<k.x+k.length)
then right:=-1;

-nd;
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Begin
Is_psila:=b.y=23
End;
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_keres ; print_keresh(k);
Init_ball(b); print_ball(b);
Right:=1; down:=1;
Count_psila:=0;



If count_psila < 3 then

Begin
Delete ball(b);
Init_ball(b);
Print_ball(b);
End;
End;
If keypressed then move keresh(k);

End
End.
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